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Trend plot forP3-8 0

Warning: col ['minFVlraw|,

"minFVOraw' ] is missing

minFVI
minFVO

1. 04 A

1.02 A

1.00—D—O—O—H—.—O—H—.—H—.—.—H—.—.—H—.—+—H—.—O—H—.—O—H—.—H+.—H—.—i

0. 98 -

0.96

Warnjing:

col ["ETcATraw’ | "ETcAl",

"ETcA2raw’|,

"ETcA2']

is missing

—@— ETcA

1.0

0.2

0.4

0.6

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning:

col ['ETcA2raw’, 'ETcA2avg’', 'ETcA2’'] missing

0.0

2200 -

2000 -

1800 ~

1600 ~

1400

1200 5 —@— ECopt

Warnjing:

col

[’ ECC’,

"ECI’, 'ECO’]

is missing

Warning:

col

[’ PHC',

"PHI", ’PHO’]

is missing

—@— PHopt

31.5 A

31.0 -

30. 5

30.0 -'—H—H—H—H—H—.+H—.+H—.—.—¢—.—.—.—H—.—.—H—.—.—H—.—.—H—.—|

29.5 -

29.0

28.5 -

Warning: col ['WCperMraw',

"WCperMavg' ] is missing

—@— WCperM

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

28 A

26 A

24 -

22 -

20 —0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—

30 —D—H—Q—Q—Q—O—Q—Q—H—Q—Q—H—Q—Q—H—Q—Q—Q—H—Q—O—Q—Q—Q—O—H—Q—H—Q—Q—I —0—  begM
1
1
1
I
1
1
1
1
1

adjFVOR

Warning: col ["adjFVIRraw’,

"adjFVIR", "adjFVORraw' ] is missing

Warning:

col

["FRA™]

is missing

58 ~

57

56

55 -

54

53 -

52

51 1

—@— beg wc

10

15

20

25

30

35

40

250 A
o postFgEt

225 4 —@®— postFgEt
—@— postFgEt
200 ~
175
150
125 +
100 -

75 1

50 -

raw
avg




- 100
- 60
- 40

FgDai ly
@%
g§§>



P3-8_0

—8— ETcl
—®— ETbai

700 -
600 -

500 -

400 -

300

200 -
100

Warning: col ['VN'] missing

—e— PPFD

—@— ETclis

—0— EToPT

—@— ETcRn

0.8 -

0.6 -

0.4 -

0.2

450 -

400 -
350 -
300 -
250 -
200 -
150 -

340 -
320 -

300
280
260
240
220
200

600 -

500 -

400 -

300

200 -

100-/////




ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

pR

T PPFD | pVPD

RH

1.0
0.8
0.6
0.4
-0.2

-0.0

1 1 1 | | | | 1
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai pR pVPD | RH



700 - - . . -

600 -

500 -

ETcl

400

300 ~

200 -

100 -

1600 -

1400 ~

°
% ° o @
1200 A ® e ® oo

ETol

1000 -

800 -

600 -

22 -

20 A

18

16 ° .

14 4 _

12 - : : : . : :
70 -
65 - ® o -
60 [} . °

55 ® ° .

RH

45 - ®

40

1® 0 @

350 -

°
(O
°
1

325 - oo .

300 ® :

— 275 1 d .

250 4 ® o {1 ) 1 o e ©
225 ® - L] 4 e i PY
200 - ° 1@ 1 e . °

T T T T T T T T
200 400 600 750 1000 1250 1500 12.5 15,0 17.5 20.0 22.5 40 50 60 70 200 250 300 350
ETcl ETol T RH |




100

8:35
80

9:35
- 60

E 10:35
40

12:05
20

13:30
0

&




P3-8

Bfig) | JEBATK (FD) | ERE (A | KR R

08:35 154 100.0 & Fn#Ae08:35 (KAL)
09:35 154 100.0 5 FiH#A@09:35 (KRF1ERES)
10:35 154 100.0 & FnH#e10:35 (REERES)
12:05 154 100.0 & FnHfe12:05 (REERSS)
13:30 154 100.0 & FHR@13:30 (RF{ERLE
Bit| 770.0 (5%) 500. 0 323K EC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant)

P3-8_0, Day=21 (2025-04-19)

VI, V@sERV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 482

TargetEC=2300. 0, | TargetSetEC=2000. 0

TargetPH=6. 5, TargetSetPH=6.5

=
o
o
o

200 I
ByWoFv @D21: 02:48: ET=482 Fg=500.0 Ro=34.0

t
!

1
1
100 ~ 1
1
1

1.0 1 e

0sl P [ P8 | B | W [ 0 | 13 [ 1A | 18 | | | | | | |m | @ | | | |m @ | @& &

o

0.6 1

0.4+

0.2~

800 4
600 -
400 -

200 -

0 \ A A Warking:,‘:ol [Al_

, 'PPFD_obs’] is missing

. lcol ['T_obs/ _*~To obs'] is missing

80 -
70 -

60 -

504 —— RH _Warning: col ['RH obs’, 'RHo_obs’] is missing

0.0 0.2 0.4 0.6 0.8 1.0

T
S
o
o

T
N
o
o

FRV (ml d-1)

T
Y
o
o o

cumET (ml/plant)

T
N
o
o



hour

6:55

7:55

9:35

11:10

12:40

100

80

- 60

- 40

20



P3-8

Bfig) | JEBATK (7)) | ERE (A | KR R

06:55 140 90.0 E  1BRi&e06:55 F a1 (RAEREE)
07:55 140 90.0 |Z=| {Ri&e07:55 Fz (REEZERE)
09:35 140 90.0 FA| 1BRi&@09:35 F3) (KAFEREE)
11:10 140 90.0 (Z=| 1Rige11:10 Fz (RAERSE)
12:40 140 90.0 [B2=| fRige12:40 Fzh GGRAEESE)
Bit| 700.0 (5%) 450.0 3K EC: 2000.0, PH: 6.5
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